Datenstrukturen

Speicherung grolRer Meng




Wiederholung

Unterschied Klassen




Deklaration und Initialisierung

Rechteck[] rechteckFeld;
rechteckFeld = new Rechteck[3];

rechteckFeld[3] = new Rechteck( ..1);

rechteckFeld[3].x;



Indirekter Zugriff

Rechteck[] rechteckFeld;
rechteckFeld = new Rechteck[3];

Inti=2;
rechteckFeld[3] = new Rechteck( 1.1 );

rechteckFeld[i].x;



Indirekter Zugriff

Rechteck[] rechteckFeld;
rechteckFeld = new Rechteck[3];

Inti=2;
rechteckFeld[i] = new Rechteck( 1...1 );

rechteckFeld[i].x;



Visualisierungen

" rechteck1:Rechteck | " feld[0]'Rechteck | feld[1]'Rechteck

x = 150; lange = 150; x =50; ldnge = 100; x=120; ldnge = 50;
y = 150; breite = 150; y = 50; breite = 100; y =170; breite = 50;
farbe = ,blau” filled = true; farbe = ,blau” filled = true; farbe = rot” filled = false;

Rechteck rechteck S feld[O] S feld[1]

Rechteck rechteck1 = new Rechteck(,blau“,150,150,150,150);
Rechteck[] feld = new Rechteck[3];

feld[0] = new Rechteck(,blau®, 50, 50, 100, 100);

feld[1] = new Rechteck(,rot*, 120, 170, 50, 50);

feld[2] = new Rechteck(,grun“, 100, 100, 150, 150);

feld[2]:Rechteck

x = 100; ldnge = 150;
y = 100; breite = 150;

. farbe = ,grin®filled = true;

Rechteck feld [2]




Wiederholungen

Rechteck[] rechteckFeld;
rechteckFeld = new Rechteck[3];
inti=0;

while(i < rechteckFeld.length){



Wiederholungen

Rechteck[] rechteckFeld;
rechteckFeld = new Rechteck[3];
inti=0;

while(i < rechteckFeld.length){

rechteckFeld[i] = new Rechteck( [..]);

rechteckFeld]i].x;
1++;



Wiederholungen

Rechteck[] rechteckFeld;
rechteckFeld = new Rechteck[3];
inti=0;

while(i < rechteckFeld.length){

rechteckFeld[i] = new Rechteck( [..]);

rechteckFeld]i].x;
I++;



Wiederholungen

Rechteck[] rechteckFeld;
rechteckFeld = new Rechteck[3];
inti=0;

while(i < rechteckFeld.length){

rechteckFeld[i] = new Rechteck( [..]);

rechteckFeld]i].x;
I++; =i+1;



for-Schleife

inti=0;
while(i < rechteckFeld.le

rechteckFeld[i] = new

rechteckFeld[i].x;
I++;




for-Schleife

inti=0;

Wllls! | < rechteckFeld.lengthy)f

rechteckFeld[i] = new Rechteck( 1.1 );
rechteckFeld[i].x;

] /I Alternative:

elf(la| 8 F=l0Hi < rechteckFeld.length; {

J




Ubungsplan
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